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2 Scientific notation

An electron has mass 9.11 x 1073 kg and a proton has mass 1.67 x 10~*"kg. They are

3.5 x 107 m apart. Determine

mass electron x mass proton

distance apaxrt

and express the regult in scientific notation.

Answg: QA X0 by 167 X107 |y

3.5« 107%m

anx L6 x 103 10-2F %1
3T xO Cm

H

Al xLbL* N (0‘31 Xlo“l?'

ﬁ_&

3'5 lo-‘IG M
i\h/‘v.,‘,\w_ o s
4.35 -3+ -8
Yoo te o

n

A4.35x 107 5 fo

e

‘(-)»55”-"(»4&)



Motion

A central ﬂoal s ussical P‘Afjsics s o desuwbe ligw Objecfs S

Demo: PuET ?rcjcch'tt Mohon
¥ Lawnch proJ'ech'lu end  cbsere H'aJecfon'c_s

“The ‘r\yicd qushons e

AT N — T\
( How wall ghjed move. \\ T k
" . \ a2 \
NNy
| 21 & e Huis shape  of /
Falb g il e P . (\ -hajw%? /f/
\.\ Mow o we desobe obJ'cc% Moh g o

e

We csk Hese  questos ~ witl Hae o qums

D Awsobe whal Mo gz have occwed au e pesh

2) dese whab mdon may  occw Lu e hdue |
3) develope a gowal mmmw% oF moha

peMo: ) Vidw -
2) Vide

Hawk Egc Yennis

- Mowk Bge ia Crixet -~ 1430

nguﬂgb for a{ésmu% ”n;;h—»—u\f (

|
* SP’C‘Q—A ".!‘l '}’U MAM'S'ZU\A 51” MOhW\ (C"F CIﬁ-SS'(LO /
* velocily l

Classical P\«ﬂsfc_c, Prm;\'dﬁ & erwork for stmmng Mohm g
/%-—/‘\-“

~

Rules (las) +hint i o longuagg.

o

' ijecl's-
\ ¥ acutmhan / |

- \

) |
Descibe - Pprojechles | — e

Sclar syskem s
cthalehcs |
air f&th“)

,-‘"
# Newlons Laws

\\“# Enera(g consovahon . -"/

@mvihjf ferminal velocilg...



